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x(t):	
  valor	
  instantáneo	
  de	
  la	
  tensión	
  o	
  intensidad.	
  

X: 	
  valor	
  eficaz	
  de	
  la	
  tensión	
  o	
  intensidad.	
  

f: 	
  frecuencia	
  de	
  la	
  tensión	
  o	
  intensidad.	
  

φ: 	
  fase	
  inicial	
  en	
  el	
  instante	
  t	
  =	
  0.	
  

1.1.	
  Representación	
  instantánea	
  de	
  señales	
  sinusoidales:	
  

€ 

x(t) = X 2 cos(2πft +ϕ0)
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Parámetro	
   Formulación	
  
Valor	
  medio	
  xmedio	
  

Valor	
  eficaz	
  xrms	
  

Valor	
  de	
  pico	
  xp	
  

Valor	
  de	
  pico	
  a	
  pico	
  xpp	
  

Factor	
  de	
  pico	
  o	
  cresta	
  FC	
  

Factor	
  de	
  forma	
  FF	
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Parámetros	
  equivalentes	
  de	
  la	
  señal	
  en	
  el	
  dominio	
  temporal	
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1.2.	
  Representación	
  fasorial:	
  

φ0	
   φ0	
  

φ0	
  

w w w 



Resistencias:	
  

€ 

v(t) =  Ri(t)

€ 

V =  RI
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1.3.	
  Representación	
  fasorial	
  de	
  magnitudes	
  que	
  representan	
  elementos	
  pasivos:	
  





€ 

v(t) = L di(t)
dt

€ 

V = jωLI
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1.3.	
  Representación	
  fasorial	
  de	
  magnitudes	
  que	
  representan	
  elementos	
  pasivos:	
  

Inductancias:	
  





€ 

v(t) =
1
C

i(t)dt∫

€ 

V =
1
jωC

I
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1.3.	
  Representación	
  fasorial	
  de	
  magnitudes	
  que	
  representan	
  elementos	
  pasivos:	
  

Capacidades:	
  





€ 

pi(t) = v(t)i(t) = 2VIcos(ωt)cos(ωt −ϕ) = P(1+ cos(2ωt))+Q(sin(2ωt))

€ 

v(t) = 2V cos(ωt)

€ 

i(t) = 2Icos(ωt −ϕ)
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1.4.	
  Potencias	
  en	
  corriente	
  alterna	
  sinusoidal	
  monofásica:	
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1.4.	
  Potencias	
  en	
  corriente	
  alterna	
  sinusoidal	
  monofásica:	
  

φ	
  



Elemento	
   Potencia	
   Descripción	
  

R	
  
Consume	
  potencia	
  ac5va.	
  
No	
  consume	
  ni	
  genera	
  
potencia	
  reac5va.	
  

L	
  
No	
  consume	
  potencia	
  
ac5va.	
  Consume	
  potencia	
  
reac5va.	
  

C	
  
No	
  consume	
  potencia	
  
ac5va.	
  Genera	
  potencia	
  
reac5va.	
  

€

S = VI* = V∠0° I∠0° = VI∠0°

P = VI; Q = 0

€

S = VI* = V∠0° I∠90° = VI∠90°

P = 0; Q = VI

€

S = VI* = V∠0° I∠–90° = VI∠–90°

P = 0; Q = −VI
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1.4.	
  Potencias	
  en	
  corriente	
  alterna	
  sinusoidal	
  monofásica:	
  



€ 

S = Pi + j Qi
i=1

N

∑
i=1

N

∑

€ 

S1 = P1 + jQ1

€ 

S2 = P2 + jQ2

€ 

SN = PN + jQN

Introducción	
  a	
  los	
  circuitos	
  de	
  C.A.	
  

1.5.	
  Teorema	
  de	
  Boucherot:	
  



Ejemplo	
  1.1:	
  
Del	
  circuito	
  de	
  la	
  figura	
  se	
  sabe	
  que	
  las	
  resistencias	
  R1	
  y	
  R2	
  disipan	
  una	
  potencia	
  de	
  
100	
  y	
  200	
  W	
  respec5vamente.	
  La	
  inductancia	
  L	
  consume	
  50	
  var	
  mientras	
  que	
  el	
  con-­‐
densador	
  presenta	
  un	
  consumo	
  de	
  potencia	
  de	
  –50	
  var.	
  

-­‐	
  Se	
  pide:	
  
Determinar	
  las	
  potencias	
  ac5va	
  y	
  reac5va	
  puestas	
  en	
  juego	
  por	
  el	
  generador	
  que	
  
alimenta	
  al	
  circuito.	
  

-­‐	
  Solución:	
  
Aplicando	
  el	
  teorema	
  de	
  Boucherot,	
  es	
  posible	
  obtener	
  la	
  potencia	
  ac5va	
  genera-­‐
da	
  como:	
  P	
  =	
  100	
  +	
  200	
  =	
  300	
  W;	
  Q	
  =	
  50	
  –	
  50	
  var	
  =	
  0	
  var;	
  S	
  =	
  (3002	
  +	
  02)1/2	
  =	
  300	
  VA.	
  

Introducción	
  a	
  los	
  circuitos	
  de	
  C.A.	
  

1.5.	
  Teorema	
  de	
  Boucherot:	
  

R1	
   C1	
  

R2	
   L1	
  



Se	
  define	
  el	
  factor	
  de	
  potencia	
  (FP)	
  de	
  un	
  circuito	
  como	
  el	
  cociente	
  entre	
  las	
  potencias	
  
ac5va	
  y	
  aparente	
  consumidas.	
  También	
  se	
  conoce	
  al	
  factor	
  de	
  potencia	
  como	
  cosφ,	
  ya	
  
que	
  coincide	
  con	
  el	
  coseno	
  del	
  ángulo	
  que	
  forma	
  la	
  hipotenusa	
  del	
  triángulo	
  de	
  
potencias	
  con	
  la	
  base:	
  

€ 

FP = cosϕ =
P
S

=
P

P 2 +Q2
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1.6.	
  Factor	
  de	
  potencia:	
  

φ	
  



€ 

FP =
P

P 2 +Q2
=

100
1002 + 502

= 0,89
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1.6.	
  Factor	
  de	
  potencia:	
  

Ejemplo	
  1.2:	
  
De	
  un	
  circuito	
  eléctrico	
  pasivo	
  se	
  sabe	
  que	
  consume	
  100	
  W	
  de	
  potencia	
  ac5va	
  y	
  50	
  
var	
  de	
  potencia	
  reac5va.	
  Obtener	
  el	
  valor	
  del	
  FP.	
  

-­‐	
  Solución:	
  
El	
  factor	
  de	
  potencia	
  FP	
  será:	
  



€ 

FPS1 ,cerrado =
P

P 2 + (Q+Qc)2
€ 

FPS1 ,abierto =
P

P 2 +Q2

€ 

Q'C = P 1
FP'2

−1 −Q
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1.7.	
  Mejora	
  del	
  factor	
  de	
  potencia:	
  

La	
  mejora	
  del	
  factor	
  de	
  potencia	
  de	
  un	
  circuito	
  o	
  instalación	
  consiste	
  en	
  añadir	
  induc-­‐
tancias	
  o	
  capacidades	
  de	
  forma	
  que	
  se	
  disminuya	
  el	
  consumo	
  total	
  de	
  energía	
  reac5va,	
  
aumentando	
  así	
  el	
  FP.	
  

S1	
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1.7.	
  Mejora	
  del	
  factor	
  de	
  potencia:	
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1.7.	
  Mejora	
  del	
  factor	
  de	
  potencia:	
  



€ 

C =
100 −1000 1

12
−1

2π ⋅ 50 ⋅ 2302
= 6µF
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1.7.	
  Mejora	
  del	
  factor	
  de	
  potencia:	
  

Ejemplo	
  1.3:	
  
Una	
  instalación	
  eléctrica	
  monofásica	
  de	
  230	
  V,	
  50	
  Hz,	
  presenta	
  un	
  consumo	
  de	
  po-­‐
tencia	
  ac5va	
  y	
  reac5va	
  de	
  1	
  kW	
  y	
  100	
  var	
  respec5vamente.	
  Calcular	
  el	
  valor	
  del	
  con-­‐
densador	
  C	
  que	
  habría	
  que	
  conectar	
  para	
  conseguir	
  un	
  factor	
  de	
  potencia	
  ideal.	
  

-­‐	
  Solución:	
  
Sabiendo	
  que	
  P	
  =	
  1000	
  W,	
  Q	
  =	
  100	
  var,	
  w	
  =	
  2pf	
  =	
  2p50	
  rd/seg,	
  V	
  =	
  230	
  V,	
  y	
  FP’	
  =	
  1,	
  
el	
  valor	
  del	
  condensador	
  C	
  será:	
  



Se	
  define	
  la	
  energía	
  consumida	
  durante	
  un	
  intervalo	
  TE	
  como	
  la	
  integral	
  de	
  la	
  potencia	
  
instantánea	
  durante	
  dicho	
  intervalo	
  TE.	
  

En	
  términos	
  geométricos,	
  la	
  energía	
  puede	
  definirse	
  como	
  el	
  área	
  bajo	
  la	
  curva	
  defini-­‐
da	
  por	
  la	
  potencia	
  instantánea.	
  

	
  	
  

€ 

EACTIVA = P(t)dt
TE

∫ 	
  	
  	
  Wh
	
  	
  

€ 

EREACTIVA = Q(t)dt
TE

∫ 	
  	
  	
   var h
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1.8.	
  Energía:	
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1.9.	
  Introducción	
  a	
  las	
  tarifas	
  en	
  régimen	
  monofásico:	
  

El	
  5po	
  de	
  tarifa	
  que	
  un	
  usuario	
  debe	
  pagar	
  a	
  la	
  compañía	
  eléctrica	
  distribuidora	
  
depende	
  de	
  dis5ntos	
  factores:	
  

• 	
  Tipo	
  de	
  distribución:	
  alta	
  o	
  baja	
  tensión.	
  

• 	
  Potencia	
  instalada.	
  
• 	
  Tipo	
  de	
  uso	
  (general,	
  alumbrado,	
  riego	
  agrícola,	
  horarios,	
  interrupción	
  del	
  servicio).	
  
• 	
  Tipo	
  de	
  energía	
  consumida:	
  ac5va	
  o	
  reac5va.	
  

Las	
  tarifas	
  eléctricas	
  vigentes	
  en	
  España	
  5enen	
  una	
  estructura	
  binómica	
  cons5tuida	
  
por	
  un	
  termino	
  obtenido	
  a	
  par5r	
  de	
  la	
  potencia	
  contratada	
  y	
  otro	
  calculado	
  según	
  la	
  
energía	
  consumida.	
  

En	
  los	
  casos	
  en	
  los	
  que	
  proceda,	
  se	
  aplicarán	
  complementos	
  (descuentos	
  o	
  recargos)	
  
que	
  dependerán	
  de	
  la	
  discriminación	
  horaria,	
  el	
  factor	
  de	
  potencia,	
  la	
  estacionabilidad	
  
y	
  la	
  interrumpibilidad.	
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Estructura	
  de	
  las	
  tarifas	
  



-­‐	
  Sin	
  discriminación	
  horaria:	
  

-­‐	
  Con	
  discriminación	
  horaria:	
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Suministro	
  a	
  tarifa.	
  Tarifa	
  PVPC	
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